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Advanced Anﬂe Relationships: Homeworf #2

In the figure, YX and YZ are opposite rays. YU bisects < ZYW, and YT bisects < XYW
Show your work. Justify steps!

Hour:

1.Ifm < ZYU = 8p — 10 and m < UYW = 10p — 20, find m < ZYU.

<ZYL E <YW def of L D\sector <
BP-10 = 10p-20 //5

P = 5| <zY0=8(5) -0
<ZY0=33
2. Ifthe m<1=5x+10 and the m < 2 =8x — 23, find m < 2.

<lxz2 defof £ Disector
DX+0= §y-2%

) = x .(i :8(10—23

3. Ifm<1=yand m < XYW = 6y — 24, find y.

4. iff m <WYZ =82 and m < ZYU = 4r + 25, find r.
<WYZ =20 4+ <LuYW ong\e, addLhono
<ZYU 2 LOYW  Oef af < Disecio
SWYZ = £ZNU 44ZYV Subgkitution
R2 o Ur+425 +4r+2s

CIC
o, Ifm<WYX=2(12bf7) and m < ZYU =9b -1, find m < UY ) y .
WYX+ <WYU +¢2YU= 180  Angle addrion Siigoe<)

SWYU <250 def of, £ Pisector <Uyw=qc4\ =

< WYX+ <ZYO +429Y0 = | ¥ 0 Sudostiduhon =2 KO
2 (12 +7) +9b-1 Hb-l;\%S/ <UYW=35
= 41



Find x and the measure of each angle. Justify steps!

6. mZll = 4x,

T o mslT=2x+7
mZl2 =2x—6

ms18 = v + 30

£17=53"
A + 412 =180 linearpairs
Hx +35
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{ il
)

‘;sé"’f \j“,,*" Mi.ﬂﬁw
| [£12.= 5]
Eh, + 18 findzx so that TR 1 TS

8 IHmsRTS =
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o, msPTQ = 3y — 10 and m2 QTR = y, find ¥ so that
£ PTR 18 a right angle.

<PTR-QD" def of clat &
LPTQ + <@TR= <PTR dngie oddiTion
55 IO + &3 = QO

”\tﬁ ;QO'
L3 = 100

10. Find m<T if m<t is 20 more than four times the measure of its supplement

<Td x =180 Hx+204+ X =180 '1X:52°\
<TS Gx+1og

5X +20=\80
5X =10

11. Find the measures of the two complementary angles: <A and <B, if <A is four times less
than, <5, L <A+<B=-qo -
/(Y\ S ) <B= {<p
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